

A Assume Qa's are of the normal
$$\left( \begin{array}{l} \left\langle \varphi_{a}^{tn} \right| \left\langle \varphi_{a}^{tn} \right\rangle = Smn \left[ \text{Notation: } \left\langle x \right| \left\langle \varphi_{a}^{tn} \right\rangle = \varphi \left( x - tn \right) \right] \right. \\ \left. \left\langle \varphi_{a}^{tn} \right| \left| \left| \varphi_{a}^{tn} \right\rangle = Smn \left[ \text{Notation: } \left( x \right| \left\langle \varphi_{a}^{tn} \right\rangle \right] \right] \\ \left\langle \varphi_{a}^{tn} \right| \left| \left| \varphi_{a}^{tn} \right\rangle = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| \right| \right. \\ \left\langle \varphi_{a}^{tn} \right| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| \right. \\ \left\langle \varphi_{a}^{tn} \right| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a}^{tn} \right\rangle \right| = E_{0} \\ \left( \varphi_{a}^{tn} \right) \\ \left( \varphi_{a}^{tn} \right) \left| \left| \varphi_{a$$

- Dispersion: 
$$E(k) = E_0 + d Y \cos(ka)$$
  
\* Expand to second older alound  $k=0$   
 $E(k) \approx E_0 + d X - Ya^2k^2 \equiv E_0 + d X - \frac{K^2E^2}{d M^2}$   
where "effective mass"  $M^* = \frac{L^2}{d M^2}$  [ager happing,  
where "effective mass"  $M^* = \frac{L^2}{d M^2}$  [smaller  $M^*$   
- Tight - binding Hamiltonian as an operator:  
 $\hat{H} = E_0 \stackrel{d}{\equiv} |\phi^n\rangle \langle \phi^n| + Y \stackrel{d}{\equiv} [|\phi^n\rangle \langle \phi^{mi}| + |\phi^{ni}\rangle \langle \phi^n|]$   
\* Bloch sum is:  
 $|\bar{\Phi}^K\rangle = \frac{L}{M} \stackrel{d}{\equiv} e^{iKtn} |b_n\rangle$   
\* (an calculate the dispersion:  
 $\hat{H}|\bar{\Phi}^K\rangle = \frac{L}{MN} \stackrel{d}{=} e^{iKtn} [E_0 \stackrel{d}{\equiv} |\phi^n\rangle \langle \phi^n|\phi^n\rangle$   
 $+ Y \stackrel{d}{=} (i\phi^n) \langle \phi^{mi}| \phi^n\rangle + i\phi^{nii} \rangle \langle \phi^n|\phi^n\rangle$   
 $= \frac{L}{MN} \stackrel{d}{=} e^{iKbn} [E_0|\phi^n\rangle + Y(|\phi^{n-1}\rangle + |\phi^{mmi}\rangle)]$   
 $= E_0[\bar{\Phi}^K\rangle + Y(e^{-iKn} + e^{iKn}) [\bar{\Phi}^K\rangle$   
 $= [E_0 + d Y \cos(Kn)] |\Phi^K\rangle$ 

\* We can write H as a NXN matrix (assume 8 is real)  
4x4: 
$$\begin{bmatrix} F_0 & F_0 & 0 \\ 0 & F_0 & F_0 \end{bmatrix} \leftarrow tridiagonal matrix
Mony physics problems expressed as a tridiagonal matrix
Most general form:
$$M = \begin{bmatrix} A_0 & F_1 & D & 0 & \cdots \\ B_1 & A_1 & F_2 & 0 & \cdots \\ 0 & P_2 & A_2 & P_3 & \cdots \\ 0 & P_3 & A_3 & \vdots \\ \vdots & \vdots & \vdots & \vdots \end{bmatrix} \leftarrow Assume M is harge but finite
$$\begin{pmatrix} I \\ M \end{pmatrix}_{00} \leftarrow T_{00} \quad |eft| \quad element \quad of \quad inverse \quad of M \\ (we see why below) \\ \cdot \quad Can show that (see G and P sec. I.4.1):
$$\begin{pmatrix} I \\ M \end{pmatrix}_{00} = \frac{1}{A_0 - \frac{P_1^2}{A_1 - \frac{P_2^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A_2 - \frac{P_1^2}{A_1 - \frac{P_1^2}{A$$$$$$$$